Dihybrid Cross




Name _______________________________
Petunia Plants

Instructions: In petunias, red flowers are dominant over yellow flowers, and six petal flowers are dominant over three petal flowers.  A cross was made between a hybrid red, three petal flower and a hybrid red, hybrid six petal flower.  Write the correct genotype of the offspring in the boxes.  Draw and color each flower that would represent each genotype.
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2. How many of the flowers will be each of the following genotypes?


a. _____ RrSs


b. _____ Rrss


c. _____ RRSs

d. _____ RRss


e. _____ rrSs


f. _____ rrss

3. How many of the flowers will be each of the following phenotypes?


a. _____ yellow flowers


e. _____ yellow, six petal

b. _____ three petal flowers

f. _____ yellow, three petal

c. _____ red flowers



g. _____ red, six petal

d. _____ six petal flowers


h. _____ red, three petal
4. Give the phenotypic ratio: _________________________________________________
5. How many of the flowers will be each of the following?


a. _____ hybrid for red


e. _____ hybrid for six petals

b. _____ purebred for red


f. _____ purebred for six petals

c. _____ hybrid for yellow


g. _____ hybrid for three petals

d. _____ purebred for yellow

h. _____ purebred for three petals
